
Screen-shots (annotated) for one instance of the survey 
 
The attributes in the choice sets are randomized, with an essentially d-optimal design for the mix 
of pandemic restrictions, but cases reduced and deaths avoided, as well as average household 
cost per month, depend on the aggregate restrictions. 
 
In this case, the respondent has chosen "Oregon" and "Lane County." 
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Pandemic Policy Survey - Joe Mitchell-Nelson and Trudy Ann Cameron (2020). This survey
was distributed to a random sample of California, Oregon, and Washington State residents 
from the Qualtrics consumer panel
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PAGE 4  (survey is modular with respect to states; others could be added or substituted with 
relative ease) 
 

 
 
PAGE 5 (we do not list all of the counties in Oregon) 
Javascript that executes when this page loads defines state abbreviations, name used collectively 
for residents of a state (e.g. Oregonians), statewide unemployment rate in February 2020 and 
statewise unemployment rate in April 2020, as well as the range of valid zipcodes for that state.  
 

 …. 
 



 
PAGE 6 (respondents get a second chance if they have chosen the wrong county) 
Javacript that executes when this page loads is extensive. For reference later in the survey, and 
for writing to the embedded data produced by each respondents, it sets:  

• The date for the end of the most recent four-week period; 
• The total number of U.S. counties with COVID-19 deaths to date;  
• The 90th percentiles of both cases and deaths per 50,000 population across all U.S. 

counties; 
• The maximum cases and deaths per 50,000; 
• County name and county population, based on the answer to the previous question; 
• Based on a block of code generated externally and written by Stata, for each county in 

each state, how much monthly income will be lost for a household with median income if 
there is no Federal unemployment insurace, or if this Federal contribution is $100 per 
week, $200 per week, $300 per week or $400 per week 

• Based on the same externally generated code, what has been the number of COVID-19 
cases and deaths in the respondent's county over the immediate past four weeks 

• Retrieves the experimental design for each policy from the respondent's row in the initial 
embedded data file 

• Creates strings for the numbers of cases and deaths in that county, with no policy, for the 
first, second and third choice scenarios, scaled from 50,000 to that county's actual 
population. Makes sure that baseline deaths in the third choice scenario are at least 5, so 
that the options on Page 38 are integers.  

• Converts the randomized numbers for cases reduces and deaths averted under each policy 
and scales these to the actual population of the respondent's county 

• Scales the policy costs based on a $55,000 household income to the same proportion of 
the median household income in the respondent's county, and rounds to the nearest $5. 

• Calculates implied unemployment rate by taking the cost for each policy and dividing it 
by the dollars lost by the median household in the absence of any federal supplemental 
unemployment insurance, and multiplying by 100.  Round to one decimal place. 

• Randomize for each choice set the weekly amount of extra weekly Federal 
unemployment insurance ($0, $100, $200, or $300, equally likely). 

• Calculate implied average cost per month for median household with the relevant level of 
Federal assistance, save as a cost string for substitution into the survey 

• Figure out the highest implied unemployment rate across the respondent's six policies and 
convert this back into the equivalent monthly cost rounded to the nearest ten dollars, 
calculate tenths of this cost range. Convert into implied unemployment rates to display as 
the ranges on Page 39  

• Toss a figurative coin to determine the order of the response options for Page 61 
• Toss a figurative coin to determine whether Policy D is explicitly labeled as a "Stay 

Home, Save Lives" type of policy. Half of cases are simply shown.  The other half 
include this additional description. 
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PAGE 8 (the numbers reflect the most up-to-date information available) 
 

 
 



PAGE 9 (if the respondent's county is already one of the worst 300 in terms of either cases or 
deaths, the prose is modified accordingly) 
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PAGE 11 (this tutorial section uses the respondent's own Policy A for training) 
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PAGE 22 
Javascript placed arbitrarily on this page takes the baseline cases and deaths with no policy in 
scenario 3 and processes these for use in the answer options on Page 37 and Page 38. For cases, 
we calculate ten roughly equal intervals, and for deaths, we calculate 5 roughly equal intervals 
(hence the floor of at least five deaths for the baseline deaths for the third choice scenario). 
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PAGE 31  
Assumes the respondent has voted against Policy B on the last screen. An analogous set of 
options is offered whenever a respondent chooses no policy. This is just one example. 
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PAGE 53 
Javascript executing when this page loads takes the saved information about the lower end of the 
respondent's household income bracket, rounds, and calculates the following percentages of that 



amount: 5, 10, 15, 20, 25, 30, 35, 40, 50, 60, 70.  Out of these bounds, it then build twelve 
brackets for monthly income. These brackets populate the options offered on Page 54.  
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PAGE 56 
Displayed if "Yes" on Page 55 
 

 
 
 
PAGE 57 
Displayed if "Yes" on Page 55 
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PAGE 59 
The survey will offer the respondent an opportunity to correct if not accurate the first time 
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PAGE 61 
Options offered in reverse order half the time 
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